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34 . CHAPTER 1 INTRODUCTION TO ELECTRONICS
R C
—0 I—ﬁr—-—o
+ L+
v, C=x=vy, V¥, R 5; v,
| o Lo FIGURE 1.22 Two cxamples of STC
networks: (a) a low-pass network and
(a) (b) {b) a high-pass network.
TABLE 1.2  frequency Response of STC Networks
Low-Pass (LP) High-Pass (HP)
Transfer Function 7{(s) K Ks
1+ (s/ ) s+ay
Transfer Fu_nction (for physical K K
frequencies) T ja) 1+ j(o/ o) 1 - j(ax/ w)
Magnitude Response |T{jo)} [&] .« B
J1+ (o7 a)? J1+ (/)
Phase Response ZT(jw) —tan”' (@/ ax) tan”' (ay/ @)
Transmission at @=0 (dc) K 0
Transmission at @) = oo 0 K
3-dB Frequency Wy = 1/7; T =& time constant
Tt =CRor LiR
Bode Plots in Fig. 1.23 in Fig. 1.24
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FIGURE 1.23 (a) Magnitude
and (b) phase response of STC
networks of the low-pass type.
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